PreCalculus
1-3 Day 1:  Limits 


Name:_______________________________
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W :  Since the early 1980’s the current minimum wage has jumped up several times.  The graph of the minimum wage as a function of time shows these jumps as breaks in the graph.  The graph is also considered an example of a piecewise function.
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a.  What was the minimum wage in 1984?

b.  What was the minimum wage at the beginning of 1996?

c.  What do the closed circles on the graph indicate?

d.  What do the open circles on the graph indicate?
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Limits

Ex. 1]

Find the limit for each of the following:



a. limx( -2  f(x)


b. lim x( 1  f(x)


c. lim x(4  f(x)

  d. limx(0  f(x)
[image: image7.png]KeyConcept Independence of Limit from Function Value at a Point

Words
Symbols

‘e limit of a function (x) as x approaches ¢ does ot depend on the value of the function af point .

Jn =t Jnat=t fmn=t
f(c) is undefined. gley=n hie)=1L




Ex. 2] 
How To Find limits as x( c (some #).
A. Numerically by using basic substitution:  Try this first  before any other method.  Substitute in the value that x is approaching into the given function, making sure that the y values from either side of x are approaching the same value as well. (Best seen graphically, but can be determined numerically as well – pick values that are really close to the number)

B. Algebraically:  Use algebra to rewrite the function, then try substitution if possible. 
C. Graphically:  A picture is always worth a 1,000 words!  
Ex. 3]

     a.  What is the 
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 (x3 – 4x2 + 8x – 1) ?                     
        b. What is the 
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            Numerically:         



    

    Numerically

Graphically:




    

    Graphically:

Ex. 4] 
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Can we algebraically simplify the equation first?


Numerically:         



    

Graphically:




    


Q?  Does a function have to be “filled in” at a point in order for the limit to exist?  
        In other words, does f (c) have to exist in order for the limx( c f (x)  to exist?

 
Definition of a Limit:
Learning Target:  


 I can determine the limit of a function as x  approaches a constant c.
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